A STUDY ON OSCILLATION OF NONLINEAR NEUTRAL IMPULSIVE HYPERBOLIC DIFFERENTIAL EQUATION USING ROBIN BOUNDARY CONDITION

¹S. Anand Gnana Selvam, ²M.Reni Sagayaraj, ³S. Janci Rani, ³V. Abirami
 ^{1,3}Department of Mathematics, A.E.T Arts and Science College, Attur, Salem Distict
 ² Department of Mathematics, Sacred Heart College, Tirupattur, Vellore District.

Abstract: In this paper, we consider the forced oscillation of nonlinear neutral type impulsive hyperbolic differential equation with several delays under the Robin boundary condition are investigated and several new sufficient conditions for oscillation are presented.

1. INTEODUCTION

The problem of oscillation and nonoscillation of solution of impulsive partial differential equations has attracted a great deal of attention over the last few years. The first paper on impulsive partial differential equation [10] was published in 1991. For an excellent exposition of this paper and its applications, see [2,3,7,14,23,29].

The oscillation theory of impulsive partial differential equations can be applied to many fields, such as to biology, engineering, medicine, physics and chemistry. Recently, the theory of impulsive partial differential equations has been investigated by many authors [4-6,8,11,24,30]. However, very few attention has been given to impulsive partial differential equations with delay [1,9,12,13,15-17,19-22,25-28,31], especially impulsive partial differential equations of neutral type.

In this paper, we study the forced oscillation of nonlinear neutral type impulsive hyperbolic differential equation (1.1) under the boundary condition (1.2), (1.3) for the oscillation solutions of the equation

$$\frac{\partial}{\partial t} \left(r(t) \frac{\partial}{\partial t} [u(x,t) + g(t)u(x,t-\tau)] \right) = a(t)\Delta u(x,t) - p(x,t)f(u(x,t-\sigma))$$

$$-\sum_{j=1}^{n} q_{j}(x,t)f_{j}(u(x,t-\mu_{j})) + F(x,t), t \neq t_{k}, (x,t) \in \Omega \times \square^{+} = G \qquad (1.1)$$

$$u(x,t_{k}^{+}) = \alpha_{k}(x,t_{k},u(x,t_{k})), \qquad u(x,t_{k}^{+}) = \beta_{k}(x,t_{k},u(x,t_{k})), \quad t = t_{k}, k = 1, 2, 3,$$

With the boundary conditions

$$\frac{\partial u}{\partial \gamma} + h(x,t)u = 0, (x,t) \in \partial \Omega \times \square^{+}$$

$$u = 0, \in \partial \Omega \times \square^{+}$$
(1.2)
(1.3)

And the initial condition

$$u(x,t) = \phi(x,t), (x,t) \in [-\delta, 0] \times \Omega.$$
 (1.4)

Here $\Omega \subset \square^N$ is a bounded domain with boundary $\partial \Omega$ smooth enough and Δ is the Laplacian in the Euclidean N-space \square^N, γ is a unit exterior normal vector of $\partial \Omega$, $\delta = \max\{\tau, \sigma, \mu_j\}, \phi(x, t) \in C^2([-\delta, 0] \times \Omega, \square)$. In the sequel we assume that the following conditions are fulfilled:

(H1) $0 < t_1 < t_2 < ... < t_k < ..., \lim_{k \to \infty} t_k = \infty, g \in PC(\Box^+, \Box^+), 0 < g(t) < 1$ and g is increasing function, are constants which are greater than zero, $j \in I_n$.

(H2) $r(t), a(t) \in PC(\square^+, \square^+), p(x,t), q_j(x,t)$ are class of functions which are positive piecewise continuous in t with discontinuous of first kind only at $t = t_k, k = 1, 2, 3, ...$ and left continuous at $t = t_k, k = 1, 2, 3, ...$

(H3)
$$h(x,t) \in PC(\partial \Omega \times \square^+, \square^+), f(u), f_j(u) \in C(\square^+, \square^+); \frac{f(u)}{u} \ge C$$
 is a positive constant, $\frac{f_j(u)}{u} \ge C_j$ is a positive constant, for $u \ne 0; f(-u) = -f(u)$ and $f_j(-u) = -f_j(u), j \in I_n; \int_{\Omega} F(x,t) dx \le 0.$

(H4) u(x,t) and their derivatives $u_t(x,t)$ are piecewise continuous in t with discontinuous of first kind only at $t = t_k, k = 1, 2, 3, ...$ and left continuous at $t = t_k, u(x, t_k) = u(x, t_k^-), u_t(x, t_k) = u_t(x, t_k^-), k = 1, 2, 3, ...$ (H5) $\alpha_k(x, t_k, u(x, t_k)), \beta_k(x, t_k, u_t(x, t_k)) \in PC(\Box^+ \times \overline{\Omega} \times \Box, \Box), k = 1, 2, 3, ...$, and there exist positive constants a_k^*, b_k, b_k^* and $b_k \le a_k^*$ such that for k = 1, 2, 3, ...,

$$a_k^* \le \frac{\alpha_k(x, t_k, \xi)}{\xi} \le a_k$$
$$b_k^* \le \frac{\beta_k(x, t_k, \xi)}{\xi} \le b_k$$

Let us construct the sequence $\{\bar{t}_k\} = \{t_k\} \cup \{t_{k\sigma}\} \cup \{t_{k\mu_i}\}$, where

$$t_{k\tau} = t_k + \tau, t_{k\sigma} = t_k + \sigma, t_{k\mu_i} = t_k + \mu_j, j \in I_n \text{ and } \bar{t}_k < \bar{t}_{k+1}, k = 1, 2, 3, ...$$

By a solution of problem (1.1),(1.2)((1.1),(1.3)) with initial condition (1.4), we mean that any function u(x,t) for which the following conditions are valid:

- (1) If $-\delta \le t \le 0$, then $u(x,t) = \phi(x,t)$.
- (2) If $0 \le t \le t_1 = t_1$, then u(x,t) coincides with the solution of the problem (1.1) and (1.2)((1.3)) with initial condition.
- (3) If $\overline{t}_k < t \le \overline{t}_{k+1}, \overline{t}_k \in \{t_k\} \setminus \{t_{k\sigma}\} \cup \{t_{k\sigma}\} \cup \{t_{k\mu_j}\}$, then u(x,t) coincides with the solution of the problem (1.1)and (1.2)((1.3)).

1374

(4) If $\bar{t}_k < t \le \bar{t}_{k+1}, \bar{t}_k \in \{t_{k\tau}\} \cup \{t_{k\sigma}\} \cup \{t_{k\mu_j}\}$, then u(x,t) coincides with the solution of the problem (1.2)((1.3))and the following equations

$$\frac{\partial}{\partial t} \left(r(t) \frac{\partial}{\partial t} [u(x,t^+) + g(t)u(x,(t-\tau)^+)] \right) = a(t)\Delta u(x,t^+) - p(x,t)f(u(x,(t-\sigma)^+))$$
$$-\sum_{j=1}^n q_j(x,t)f_j(u(x,(t-\sigma_j)^+)) + F(x,t), t \neq t_k, (x,t) \in \Omega \times \square^+ = G$$
$$u(x,\bar{t}_k) = u(x,\bar{t}_k), u_t(x,\bar{t}_k) = u_t(x,\bar{t}_k), \bar{t}_k \in \{t_k\} \setminus \{t_{k\tau}\} \cup \{t_{k\sigma}\} \cup \{t_{k\mu_j}\},$$

Or

$$u(x,t_{k}^{+}) = \alpha_{k}(x,\bar{t}_{k},u(x,\bar{t}_{k})),$$

$$u_{t}(x,t_{k}^{+}) = \beta_{k}(x,\bar{t}_{k},u(x,\bar{t}_{k})), \bar{t}_{k} \in \{t_{k\tau}\} \cup \{t_{k\sigma}\} \cup \{t_{k\mu_{j}}\} \cap \{t_{k}\}.$$

Here the number k_i is determined by the equality $\overline{t}_k = t_{k_i}$.

We introduce following the notations throughout this paper:

$$\Gamma_{k} = \{(x,t) : t \in (t_{k}, t_{k+1}), x \in \Omega\}; \Gamma = \bigcup_{k=0}^{\infty} \Gamma_{k},$$

$$\overline{\Gamma}_{k} = \{(x,t) : t \in (t_{k}, t_{k+1}), x \in \overline{\Omega}\}; \overline{\Gamma} = \bigcup_{k=0}^{\infty} \overline{\Gamma}_{k},$$

$$p(t) = \min_{x \in \overline{\Omega}} p(x,t), q_{j}(t) = \min_{x \in \overline{\Omega}} q_{j}(x,t),$$

$$v(t) = \int_{\Omega} u(x,t) dx,$$

and

$$z(t) = v(t) + g(t)v(t - \tau)$$

The solution $u \in C^2(\Gamma) \cap C^1(\overline{\Gamma})$ of problem (1.1),(1.2) ((1.1),(1.3)) is called nonoscillatory in the domain *G* if it either eventually positive or eventually negative. Otherwise, it is called oscillatory.

This paper is organized as follows: Section 2, deals with the oscillatory properties of solutions for problems (1.1) and (1.2). In Section 3, we discuss the oscillatory properties of solutions for problems (1.1) and (1.3). Section 4, deals with an example to illustrate the main results.

2. OSCILLATION PROPERTIES OF THE PROBLEM (1.1) AND (1.2)

To prove the main result, we need the following lemmas,

Lemma 2.1. Let $u \in C^2(\Gamma) \cap C^1(\overline{\Gamma})$ be a positive solution of the problem (1.1),(1.2) in the domain *G*, then the function satisfies the impulsive differential inequality

(2.5)

$$r(t)z''(t) + C(1 - g(t))p(t)z(t - \sigma)(1 - g(t))\sum_{j=1}^{n} C_{j}q_{j}(t)z(t - \mu_{j}) \le 0, t \ne t_{k}$$
(2.1)

$$a_k^* \le \frac{z(t_k)}{z(t_k)} \le a_k \tag{2.2}$$

$$b_k^* \le \frac{z'(t_k)}{z'(t_k)} \le b_k, t = t_k, k = 1, 2, 3, \dots$$
(2.3)

Proof. Let u(x,t) be a positive solution of the problem (1.1),(1.2) in *G*. Without loss of generality, we may assume that there exists a T > 0, where $t_0 > T$ such that

$$u(x,t) > 0, u(x,t-\tau) > 0, u(x,t-\sigma) > 0, u(x,t-\mu_j) > 0, j = 1,2,3,...,n.$$

For $t \ge t_0, t \ne t_k, k = 1, 2, 3, ...,$ integrating (1.1) with respect to x, over Ω yields

$$\frac{d}{dt}\left(r(t)\frac{d}{dt}\left(\int_{\Omega}u(x,t)dx+g(t)\int_{\Omega}u(x,t-\tau)dx\right)\right)=a(t)\int_{\Omega}\Delta u(x,t)dx-\int_{\Omega}p(x,t)f(u(x,(t-\sigma))dx)$$
$$-\sum_{j=1}^{n}\int_{\Omega}q_{j}(x,t)f_{j}(u(x,(t-\mu_{j})dx+\int_{\Omega}F(x,t)dx.$$
(2.4)

By Green's formula and the boundary condition (1.2) we have

$$\int_{\Omega} \Delta u(x,t) dx = \int_{\partial \Omega} \frac{\partial u}{\partial \gamma} dS = -\int_{\partial \Omega} h(x,t) u(x,t) dS \le 0$$

Where dS is the surface element on $\partial \Omega$.

Also from condition (H3) and Jenson's inequality we can easily obtain

$$\int_{\Omega} p(x,t) f(u(x,(t-\sigma))) dx \ge p(t) f\left(\int_{\Omega} (u(x,(t-\sigma))) dx, \\ \ge p(t) f(v(t-\sigma)) \\ \ge Cp(t)v(t-\sigma) \\ \int_{\Omega} q_j(x,t) f_j(u(x,(t-\mu_j)) dx \ge C_j q_j(t)v(x,t-\mu_j))$$
(2.6)

Combining (2.4)-(2.6), we get

$$r(t)(v(t) + g(t)v(t-\tau))^{"} + Cp(t)v(t-\sigma) + \sum_{j=1}^{n} C_{j}q_{j}(t)v(x,t-\mu_{j}) \le 0$$
(2.7)

5

Let $z(t) = v(t) + g(t)v(t-\tau)$, then z(t) > 0, $z(t) \ge v(t)$. By the inequality (2.7), $z'(t) \le 0$, $t \ge t_0$ and it is easy to obtain

$$z'(t) \ge 0, t \ge t_0.$$
 (2.8)

In fact, if the inequality (2.8) does not bounded, there exists $t_1 \ge t_0$ satisfying $z_1'(t) \le 0$. Since z'(t) is decreasing, then

$$z(t) - z(t_1) = \int_{t_1}^{t} z'(s) ds \le \int_{t_1}^{t} z'(t_1) ds = z_1'(t)(t - t_1)$$

and $\lim_{t\to\infty} \mathfrak{A} = -\infty$, which contradicts z(t) > 0, so (2.8) holds. From (2.7), we have

$$r(t)z'(t) + Cp(t)v(t-\sigma) + \sum_{j=1}^{n} C_{j}q_{j}(t)v(t-\mu_{j}) \leq 0.$$

Because,

$$v(t) = z(t) - g(t)v(t - \tau)$$

= $z(t) - g(t)[z(t - \tau)v(t - 2\tau)]$
= $z(t) - g(t)z(t - \tau) + g(t)g(t - \tau)v(t - 2\tau)$
 $\ge z(t) - g(t)z(t - \tau)$
= $(1 - g(t))z(t)$

So,

$$v(t-\sigma) \ge (1-g(t-\sigma))z(t-\sigma)$$

$$\ge 91-g(t))z(t-\sigma)$$

$$v(t-\mu_{j}) \ge (1-g(t-\mu_{j}))z(t-\mu_{j})$$

$$\ge (1-g(t)z(t-\mu_{j}), j=1,2,3,...,n)$$

Hence, we obtain

$$r(t)z''(t) + (1 - g(t)Cp(t)z(t - \sigma) + \sum_{j=1}^{n} C_{j}q_{j}(t)(1 - g(t))z(t - \mu_{j}) \le 0.t \neq t_{k}$$

For $t \ge t_0$, $t = t_k$, k = 1, 2, ..., from (1.1) and the condition (H5), we obtain

$$a_{k}^{*} \leq \frac{u(x,t_{k}^{+})}{u(x,t_{k})} \leq a_{k}$$
$$b_{k}^{*} \leq \frac{u_{t}(x,t_{k}^{+})}{u_{t}(x,t_{k})} \leq b_{k}.$$

According to the $v(t) = \int_{\Omega} u(x,t)dx$, we obtain

$$a_{k}^{*} \leq \frac{v(t_{k}^{+})}{v(t_{k})} \leq a_{k}$$
$$b_{k}^{*} \leq \frac{v'(t_{k}^{+})}{v'(t_{k})} \leq b_{k}, k = 1, 2, 3, ...$$

Because $z(t) = v(t) + g(t)v(t - \tau)$, we have

$$a_{k}^{*} \leq \frac{z(t_{k}^{+})}{z(t_{k})} \leq a_{k}$$
$$b_{k}^{*} \leq \frac{z'(t_{k}^{+})}{z'(t_{k})} \leq b_{k}, k = 1, 2, 3, .$$

Hence, z(t) is a positive solution of impulsive differential (2.1)-(2.3), This completes the proof.

Lemma 2.2. [14] Assume that

- (A1) the sequence $\{t_k\}$ satisfies $0 < t_0 < t_1 < \dots, \lim_{k \to \infty} t_k = \infty$;
- (A2) $m(t) \in PC[\square^+, \square]$ is left continuous at t_k for k = 1, 2, 3, ...
- (A3) for k = 1, 2, 3, ... and $t \ge t_0$,

$$m'(t) \le p(t)m(t) + q(t), t \ne t$$
$$m(t_k^+) \le \frac{d_k m(t_k) + e_k}{d_k m(t_k) + e_k}$$

Where $p(t), q(t) \in C(\square^+, \square), d_k \ge 0$ and e_k are constants. PC denote the class of piecewise continuous function from \Box^+ to \Box^- , with discontinuous of the first kind only at $t = t_k k = 1, 2, 3$

Then

$$m(t) \le m(t_0) \prod_{t_0 < t_k < t} d_k \exp\left(\int_{t_0}^t p(s)ds\right) + \int_{t_0}^t \prod_{s < t_k < t} d_k \exp\left(\int_{t_0}^t p(s)ds\right) q(s)ds$$
$$+ \sum_{t_0 < t_k < t} \prod_{t_0 < t_k < t} d_j \exp\left(\int_{t_0}^t p(s)ds\right) e_k.$$

Lemma 2.3. Let z(t) be an eventually positive (negative) solution of the differential inequality (2.1)-(2.3). Assume that there exists $T \ge t_0$ such that z(t) > 0 (z(t) < 0) for $t \ge T$. if

$$\lim_{t \to +\infty} \int_{t_0}^t \prod_{t_0 < t_k < s} \frac{b_k^*}{a_k} ds = +\infty$$
(2.9)

Hold, then $z'(t) \ge 0$ ($z'(t) \le 0$) for $t \in [T, t_1] \cup \left(\bigcup_{k=l}^{+\infty} (t_k, t_{k+1}]\right)$ where $l = \min\{k : t_k \ge T\}$.

Proof. The proof of the lemma can be found in [18].

We begin with the following theorem.

Theorem 2.1. If condition (2.9) and the following condition hold

$$\lim_{t \to +\infty} \int_{t_0}^{t} \prod_{t_0 < t_k < s} \frac{a_k^*}{b_k} r(t_k) \psi(s) ds = +\infty,$$
(2.10)

Where,

$$\psi(t) = \frac{\exp(-\delta w(t_0))(1-g(t))\left[Cp(t) + \sum_{j=1}^n C_j q_j(t)\right]}{r(t)}$$

Then every solution of the problem (1.1),(1.2) oscillates in G.

Proof. Let u(x,t) be a nonoscillatory solution of (1.1),(1.2). Without loss of generality, we can assume that there exists T > 0 where $t_0 \ge T$, such that

$$u(x,t) > 0, u(x,t-\tau) > 0, u(x,t-\sigma) > 0, u(x,t-\mu_j) > 0, j = 1, 2, ..., n \text{ for } (x,t) \in \Omega \times [t_0,\infty)$$

From Lemma 2.1, we know that z(t) is a positive solution of (2.1)-(2.3).

For $t \ge t_0, t \ne t_k, k = 1, 2, ...,$ define

$$w(t) = r(t) \frac{z'(t)}{z(t)}, t \ge t_0$$
 (2.11)

Then we have $w(t) > 0, t \ge t_0, r(t)z'(t) - w(t)z(t) = 0$. We may assume that $z(t_0) = 1$, thus we have that for $t \ge t_0$

$$z(t) = \exp\left(\int_{t_0}^t w(s)ds\right),$$
(2.12)

$$z'(t) = w(t) \exp\left(\int_{t_0}^t w(s)ds\right),$$
(2.13)

$$z''(t) = w^2(t) \exp\left(\int_{t_0}^t w(s)ds\right) + w^1(t) \exp\left(\int_{t_0}^t w(s)ds\right)$$
 (2.14)

Substitute (2.12)-(2.14) into (2.1) and then we obtain,

$$r(t)w^{2}(t)\exp\left(\int_{t_{0}}^{t}w(s)ds\right) + r(t)w^{1}(t)\exp\left(\int_{t_{0}}^{t}w(s)ds\right) + C(1-g(t))p(t)\exp\left(\int_{t_{0}}^{t-\sigma}w(s)ds\right) + (1-g(t))\sum_{j=1}^{n}C_{j}q_{j}(t)\exp\left(\int_{t_{0}}^{t-\mu_{j}}w(s)ds\right)$$

Hence we have

$$r(t)w^{2}(t) + r(t)w^{1}(t) + C(1 - g(t))p(t)\exp(-\int_{t-\sigma}^{t} w(s)ds)$$

+(1 - g(t)) $\sum_{j=1}^{n} C_{j}q_{j}(t)\exp(-\int_{t-\mu_{j}}^{t} w(s)ds) \le 0.t \ne t_{k}$
$$r(t)w^{1}(t) + C(1 - g(t))p(t)\exp(-\int_{t-\sigma}^{t} w(s)ds)$$

+(1 - g(t)) $\sum_{j=1}^{n} C_{j}q_{j}(t)\exp\left(-\int_{t-\mu_{j}}^{t} w(s)ds\right) \le 0.t \ne t_{k},$

From above inequality and condition $b_k \le a_k^*$ it is easy to see that the function w(t) is nonincreasing for $t \ge t_k \ge \delta + t_0$. Thus $w(t) \le w(t_0)$ for $t \ge t_0$ which implies that

$$r(t)w^{1}(t) + C(1 - g(t)p(t)\exp(-\delta w(t_{0})))\sum_{j=1}^{n} C_{j}q_{j}(t) \le 0, t \ne t_{k}.$$

From (2.2)-(2.3), we obtain

$$w(t_k^+) = r(t_k^+) \frac{z'(t_k^+)}{z(t_k^+)} \le r(t_k^+) \frac{a_k z'(t_k^+)}{a_k^* z(t_k^+)} = r(t_k) \frac{a_k}{b_k^*} w(t_k)$$

and

$$r(t)w^{1}(t) \leq -C(1-g(t))\exp(-\delta w(t_{0}))p(t) - (1-g(t))\exp(-\delta w(t_{0}))\sum_{j=1}^{n}C_{j}q_{j}(t) \leq 0, t \neq t_{k}.$$

$$w(t_k^+) \le r(t_k) \frac{b_k}{a_k^*} w(t_k), k = 1, 2, ...$$

Let

$$-\psi(t) = \frac{\exp(-\delta w(t_0))(1-g(t)) \left[-Cp(t) - \sum_{j=1}^{n} C_j q_j(t)\right]}{r(t)}$$

Then according to Lemma 2.2, we have

$$w(t) \leq w(t_{0.}) \prod_{t_{0.} < t_{k.} < t} r(t_{k}) \frac{b_{k}}{a_{k}^{*}} + \int_{t_{0.}}^{t} \prod_{s < t_{k.} < t} r(t_{k}) \frac{b_{k}}{a_{k}^{*}} \psi(s) ds$$
$$= \prod_{t_{0.} < t_{k.} < t} \frac{b_{k}}{a_{k}^{*}} \left[w(t_{0.}) r(t_{k}) - \int_{t_{0.}}^{t} \prod_{t_{0.} < t_{k.} < t} r(t_{k}) \frac{a_{k}}{b_{k}^{*}} \psi(s) ds \right] < 0.$$

Since $w(t) \ge 0$, the last inequality contradicts condition (2.10). This completes the proof.

3.OSCILLATION PROPERTIES OF THE PROBLEM (1.1) AND (1.3)

Next we consider the problem (1.1) and (1.3). To prove our main result we need the following lemma.

Lemma 3.1. Let $u(x,t) \in C^2(\Gamma) \cap C^1(\overline{\Gamma})$ be a positive solution of the problem (1.1),(1.3) in the domain *G*, then the function z(t) satisfies the impulsive differential inequality

$$r(t)z''(t) + C(1 - g(t))p(t)z(t - \sigma)(1 - g(t))\sum_{j=1}^{n} C_{j}q_{j}(t)z(t - \mu_{j}) \le 0, t \ne t_{k}$$

$$a_{k}^{*} \le \frac{z(t_{k}^{+})}{z(t_{k})} \le a_{k}$$

$$b_{k}^{*} \le \frac{z'(t_{k}^{+})}{z'(t_{k})} \le b_{k}, t = t_{k}, k = 1, 2, 3, ...$$

$$(3.2)$$

Proof. Let u(x,t) be a positive solution of the problem (1.1),(1.3) in G. Without loss of generality, we may assume that there exists a T > 0 where $t_0 > T$ such that

$$u(x,t) > 0, u(x,t-\tau) > 0, u(x,t-\sigma) > 0, u(x,t-\mu_j) > 0, j = 1, 2, 3, ..., n.$$

For $t \ge t_0, t \ne t_k, k = 1, 2, ...,$ integrating (1.1) with respect to x, over Ω yields

$$\frac{d}{dt}(r(t)\frac{d}{dt}\left(\int_{\Omega}u(x,t)dx + g(t)\int_{\Omega}u(x,t-\tau)dx\right)\right) = a(t)\int_{\Omega}\Delta u(x,t)dx + \int_{\Omega}p(x,t)f(u(x,t-\tau))dx$$

$$-\sum_{j=1}^{n}\int_{\Omega}q_{j}(x,t)f_{j}(u(x,t-\mu_{j}))dx + \int_{\Omega}F(x,t)dx.$$
(3.4)

By Green's formula and the boundary condition (1.3) we have

$$\int_{\Omega} \Delta u(x,t) dx = \int_{\partial \Omega} \frac{\partial u}{\partial \gamma} dS \le 0$$
(3.5)

Where dS is the surface element on $\partial \Omega$. The rest of the proof is similar to the Lemma 2.1, we omit it.

Using the above lemma, we prove the following oscillation result.

Theorem 3.1. If condition (2.9) and (2.10) hold, then each solution of (1.1), (1.3) oscillates in G

Proof. The proof is similar to Theorem 2.1 and hence the details are omitted.

4. EXAMPLES

In this section, we present an example to illustrate the main results.

Example 4.1. Consider the impulsive differential equation

$$\frac{\partial}{\partial t} \left((t+\pi)^2 \frac{\partial}{\partial t} \left(u(x,t) + \frac{1}{t+\pi} u\left(x,t-\frac{\pi}{2}\right) \right) \right) = (t+\pi)^2 \Delta u(x,t) - 2(t+\pi)u\left(x,t-\frac{5\pi}{2}\right)$$

$$-(t+\pi)u\left(x,t-\frac{9\pi}{2}\right), t > 1, t \neq t_k, k = 1, 2, \dots$$

$$u(x,t_k^+) = \frac{k+1}{k} u(x,t_k)$$

$$u_t(x,t_k^+) = \frac{k+1}{k} u_t(x,t_k), k = 1, 2, \dots$$
(4.1)

and the boundary condition

$$u(0,t) = u(\pi,t) = 0, t > 1, t \neq t_k, k = 1, 2, ...$$

Here

$$\Omega = (0, \pi), a_k = a_k^* = \frac{k+1}{k}, b_k = b_k^* = 1, k = 1, 2, \dots r(t) = (t+\pi)^2, g(t) = \frac{1}{t+\pi},$$
$$a(t) = (t+\pi)^2, p(t) = 2(t+\pi), q_1(t) = (t+\pi), \tau = \frac{\pi}{2}, \sigma = \frac{5\pi}{2}, \mu_1 = \frac{9\pi}{2}, f(u) = u, f_1(u) = u,$$

and taking $t_0 = 1, t_k = 2^k, k = 1, 2, \dots$ Moreover

$$\lim_{t \to +\infty} \int_{t_0}^{t} \prod_{t_0 < t_k < s} \frac{b_k^*}{a_k} ds = \int_{1}^{+\infty} \prod_{1 < t_k < s} \frac{k}{k+1} ds$$
$$= \int_{1}^{t_1} \prod_{1 < t_k < s} \frac{k}{k+1} ds + \int_{t_1^+}^{t_2} \prod_{1 < t_k < s} \frac{k}{k+1} ds + \int_{t_2^+}^{t_2} \prod_{1 < t_k < s} \frac{k}{k+1} ds + \int_{t_2^+}^{t_2} \prod_{1 < t_k < s} \frac{k}{k+1} ds + \dots$$
$$= 1 + \frac{1}{2} \times 2 + \frac{1}{2} \times \frac{2}{3} \times 2^2 + \frac{1}{2} \times \frac{2}{3} \times \frac{3}{4} \times 2^3 + \dots$$
$$= \sum_{n=0}^{+\infty} \frac{2^n}{n+1} = +\infty$$

so (2.9) holds. We take $\lambda = 1, C = C_1 = 1, \delta = \max\{\tau, \sigma, \mu_1\} = \frac{9\pi}{2}, w(t_0) = \frac{1}{t + \pi}$, then

(4.2)

$$\psi(t) = \frac{\exp\left\{-\frac{9\pi}{2} \times \frac{1}{t+\pi}\right\} \times \left\{1 - \frac{1}{t+\pi}\right\} \times \left(2(t+\pi) + (t+\pi)\right)}{(t+\pi)}$$
$$= \frac{\exp\left\{-\frac{9\pi}{2} \times \frac{1}{t+\pi}\right\} \times 3\left\{1 - \frac{1}{t+\pi}\right\}}{(t+\pi)}$$

Thus

$$\lim_{t \to +\infty} \int_{1}^{t} \prod_{1 < t_k < s} \frac{a_k^*}{b_k} r(t_k) \psi(s) ds = \lim_{t \to +\infty} \int_{1}^{t} \prod_{1 < t_k < s} \frac{k+1}{k} (2^k + \pi)^2 \times \frac{\exp\left\{-\frac{9\pi}{2} \times \frac{1}{t+\pi}\right\} \times 3\left\{1 - \frac{1}{t+\pi}\right\}}{(s+\pi)} ds$$
$$> \int_{1}^{t} \frac{ds}{s+\pi} \to \infty, t \to \infty$$

Hence (2.10) holds. Therefore all conditions of Theorem 3.1 are satisfied. Hence every solution of the problem (4.1), (4.2) oscillates in $(0, \pi) \times [0, \infty)$. In fact $u(x, t) = \sin x \cos t$ is one such solution of the problem (4.1) and (4.2).



[1] R. Atmania and S. Mazouzi, On the oscillation of some impulsive parabolic equation withseveral delays, Arch. Math., 47(3) (2011), 217-228.

[2] D.D. Bainov and P.S. Simeonov, Systems with Impulse Effect Stability Theory and Applications, Eillis Horwood, Chichester, 1989.

[3] D.D. Bainov and P.S. Simeonov, Impulsive Differential Equations: Periodic Solutions and Applications, Longman, Harlow, 1993.

[4] D.D. Bainov and Z. Kamont and E. Minchev, Periodic boundary value problem for impulsive hyperbolic partial differential equations of first order, Appl. Math. Comput. 80 (1994), 1-10.

[5] D.D. Bainov and E. Minchev, Oscillation of the solutions of impulsive parabolic equations, J. Comput. Appl. Math., 69 (1996), 207-214.

[6] C.Chan and L.Ke, Remarks on impulsive quenching problems, Proc. Dyn. Syst. Appl., 1(1) (1994), 59-62.

[7] B. Cui, M.A. Han, Oscillation theorems for nonlinear hyperbolic systems with impulses, Nonlinear Anal: RWA, 9(1) (2008), 94-102.

[8] J.W. Luo, Oscillation of hyperbolic partial differential equations with impulses, Appl. Math. Comput, 133(2/3) (2002), 309-318.

[9] Q.X. Ma, L.L. Zhang and A.P. Liu, Oscillation of nonlinear impulsive hyperbolic equations neutral type, Applied Mechanics and Materials, 275-277 (2013), 848-851.

[10] P. Wang and Y.Wu, Oscillation criteria for impulsive parabolic differential equations of neutral type, Int. J.Pure Appl. Math., 14(4) (2004), 505-514.

